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&5 A 15 e BIESTH | HEORE
1m 50cm 5cm
WEBRTFE—/INER 10A2AH 0.04 0.04 0.05 TI9UKR *
2 BB FEZINER 10A3R 0.05 0.05 0.06 TJI9UKR *
I BB FE=/NER 10A1H 0.05 0.05 0.05 TI9UKR *
4| H BT EmNER 108108 0.04 0.03 004 | T3 OUF x
5| AL /AR 108158 0.04 0.04 0.03 JI9UKR x
6| FE/NERR 108138 0.03 0.03 003 | 4Y3I59UF x
7L BTN 108168 0.04 0.04 004 | HF9UF x
8| B EFILI/NFRR 10A3H 0.04 0.04 004 | FFIUF +
9 R F/NERK 108178 0.06 0.05 006 | YIIUF +
10| i#dL & BR/NFERR 108158 0.05 0.05 004 | F35IUF +
1 FARNERR 10A3H 0.06 0.06 006 | YI9UK +
12| A AR/NEEL 108108 0.06 0.06 006 | J3I9UF +*
13| FER/NER 10A3H 0.06 0.06 006 | YI9UK +*
1 EBRTFPER 108158 0.03 0.04 003 | H39UF +*
2| A g 10A3H 0.08 0.08 008 | 4JIFUK +
,.EE 3| LR 10A9R 0.07 0.07 008 | T3IUF +
; 4| AL & R 10R108 0.06 0.06 007 | F39UF +
5| AFRAFER 10A9AH 0.04 0.04 004 | F39UF *
6| B IR 10A9AH 0.05 0.05 0.06 TI9UK *
o B 1RFNMNFEREE 10A248 0.12 0.13 012 | Huthrh FARI7IVE
% E 2EHWNEEREE 108248 0.04 0.06 0.05 Bith L +
= I HBRFE=ZINRFEREE 10H24H 0.06 0.07 0.07 AOsR AL H

F\f 1 HXLBEREEE 10526 H 0.06 0.06 006 | EfEFR +
1'52 2 FREE 10A2H 0.05 0.05 0.05 EEHR *
3L S REE 10A9H 0.05 0.05 005 ERERR +
= 4 H<h<IE5 10A18H 0.04 0.05 0.04 PR +
1 REE 108248 0.04 0.04 0.04 EREH R +
2 mEEREERE 108 18H 0.07 0.07 0.07 EREH R +

IEEREBRE 11828 0.09 0.08 0.07 ERES R AIZ
4| BIREE 10A9H 0.06 0.05 0.05 EREH R x
5| MERBE 10H30H 0.05 0.06 0.05 BEEH R +
6 faBREER 108138 0.05 0.05 0.05 EREH R *
fi_\ I RXREBREREE 10A25H8 0.04 0.04 005 | [EREPR +
é 8 INEELFAEH BREE 10A 108 0.03 003 003 MEREhx +
= 97U IhRER 10A4H 0.04 0.04 0.04 ERES R x
10 DIEHREER 10838 0.05 0.06 0.06 EEHR *

11 |2REE 10A31H 0.06 0.07 0.06 EES R Zih

12| XF2ESVRHUVTRER 10H30H 0.04 0.04 0.04 ERES R AILZ

1B REBXHKLHREER 11A5H 0.04 0.04 0.04 ERES R AILZ
14 BEALYEFEER 108 18H 0.06 0.06 0.06 EREH R x
15 ®RHVCEERER 10822H 0.03 0.03 0.03 BERED L +
16| RFREE 10A3H 0.03 0.03 0.04 EREH R +
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B2 &= R MEE et mESE | MEOKE
1 OIEZHHE-DIEXDHFREE 108288 0.17 0.13 0.12 BEEPR +
2|0 Y SR 108158 0.06 0.06 007 | REEHR FES
IEEHNHE 108150 0.04 0.05 0.04 EREH R x
4|iRIL & HFHER 11828 0.05 0.06 0.06 BEESHR +
5/t B IXS S HEE 108158 0.05 0.04 0.05 BEEHR *
6| IS HEE 10A29H 0.04 0.04 0.05 BEEHR +
1 EEHHE 10A12H 0.05 0.05 0.05 BEEHR *
8| T—TIILHHE 108 17H 0.03 0.05 0.03 BEEHR x
9| KL D HE 11A28 0.04 0.04 0.05 BEES R o
10| fte & HHE 108158 0.04 0.04 0.03 BEEHR +
WEBRTFREORAE 10R18 - 0.06 - R =
B FEREOALAR 10R18 - 0.05 = R =
3 KLE2BE 10848 - 0.06 - thR x
4 KLE45AE 10A4H = 0.09 = hR T
I =1E47NES 10A5H - 0.06 - R FRI7IVE
6| ZBRFSNHUV LG 10A1H = 0.09 = hR avyy—k
1 EBRTFEBEAR 10A1H - 0.04 - thf +
8 HBRTFHELAR 10A1H - 0.07 - th g +-&
9 FHEABAR 10A2H N 0.09 - thf +
10| & HETEH AR 10A3H = 0.04 = Rk =
NMRFEMARLE 10748 - 0.06 - R 7
12 EEMAAE 1083H 0.07 = b *
13| MF & FELDHEVG 10A4AH - 0.05 - thf B
14 ERFHELLE 10A1H = 0.06 - b Sl
15 BB FHEmLE 10A3H - 0.09 - thf +
16| AILEEAE 10A3H = 0.05 - thf 3
N 17| FELIES A E 10848 - 0.04 - [=aF: 3 3
18| LERIFE AR 10838 - 0.05 - rh =1
i 9 AFRBITIZDOLE 10A4R8 - 0.06 - TR +
23 20| ZHAE 10A3H = 0.07 = th =1
% 21 Em181E 10H4H - 0.10 - s =1
+ RN 10828 - 0.09 - ik A 8—OyFL Y
ﬂzt 23| K1 ELE 10848 - 0.06 - b =
_ 24| FNF XX NE 10828 = 0.05 - thf =1
ZBIMFEFARELE 10A48 - 0.05 - th g =
26| RFEFARILLE 10A4H - 0.05 - thf =1
21 IBFEFARBARE 10848 - 0.06 - R "
28 EEHAE 10838 - 0.06 - rh =1
29 EHELE 10A3H - 0.05 - IREHR d
30 XLE3EAHE 10A3H = 0.04 - b g &
31| KLESEAE 10A3H - 0.05 - IRighR *
32| XLE6SAHE 10A3H = 0.06 - kgL T-®
33 HKLE7ELE 10838 - 0.06 - th B
34| ALEY A/ FE 10848 = 0.05 - thf e
BIEFLBEAE 10A3H - 0.09 - IRighR T-®
36 | JLERIFIL N E 10A3H = 0.05 - th g B
37| LERIFEFE N E 10A3H - 0.07 - R TJLFYTHE
38| IRFERLNE 10A3H = 0.09 - IRIGHR | qrs—avELy
I ERFVELSLE 10A1H - 0.07 - ILighR T
40| EBFHISLE 10A1H = 0.06 - RERR *
M ERFEEAR 10A1H - 0.07 - hR avyy—k
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B2 &= R MEE et mESE | MEOKE
2| HFBFRELE 10R18 = 0.08 - h g 3
43| @I E 10A58 - 0.09 - ILighR +
44|\ F AL AE 10A3H = 0.07 - IRiGHRR b
45 MMFEEEHLAR AR 10A9H - 0.05 - IREhR +
46| B ILTELE 10A5H = 0.11 - BEEYO =
47| AL E 10A5H - 0.13 - ILighR +
48| B ILEELAE 10A58 = 0.10 - ERREA +
OAFRHTHEANE 10848 - 0.04 - EHHR L3
50 ALH1ELE 10848 - 0.08 - thf +
51| XFILAE 10A3H - 0.09 - g "
A 52| RFILRARE 10A3H = 0.11 = 2P 3 =
53 ZAE—LE 10A 38 - 0.08 - hR =
R 54 EFRAE 10848 - 0.06 - th *
ESall 55 AT AE 10748 - 0.06 - FR 5
% 56| i R4S A E 10H4H - 0.06 - E *
sl 57 LRSS AR 10848 - 0.05 - ik =
ﬂzt 58| AR <RI AE 10848 - 0.05 = b =
59| FFDHAE 10428 - 0.08 - R x
= 60| FHELE 10828 = 0.07 - thf Eis
61 EW25AE 10A5H - 0.04 - hR =
62|Hi K25 A E 10848 = 0.06 = eF 3 B
63|1=1T DL 10A28 - 0.04 - hR +
64| KL AE 10A2H = 0.11 = [=aF: T
65 LOSENE 10A2AH - 0.05 - th g =]
66| RELE 10A2H = 0.06 = ik B
67 FEAE 10828 - 0.06 - g "
68| FIERNE 10828 = 0.07 - R =1
69 EIZSLAE 10A2R - 0.05 - th &
10| XED L5 10828 = 0.09 - b =
| EF Lkl AR 10A28 - 0.04 - thg =
72| LEFE AL AR 10A5H - 0.05 = eF 3 B
B EBEPRAR 10898 - 0.06 - R =
74| EIFE R AR 10A9H = 0.05 = [=aF: T
75| EEEENE 10A9H - 0.11 - s =
76| KIGEELE 10A5H = 0.09 - th g B
7 REEBLE 10A5H - 0.07 - SAESHER *
N 18 REEELE 10A5H = 0.06 = [=aF; T
79 £ ARAE 10818 - 0.12 - ik =
~ 80| R ALAE 10818 = 0.11 - WEEfHA +
9£E 81| R25E 10A1H - 0.05 - R *
L 82| R4S E 10A1H = 0.05 = 2P 3 +
#h 83| XH/M15L/E 10A2H - 0.05 - thR =
X BB 10828 - 0.07 - gk B
~ 85| XHFAISLE 10A28 - 0.06 - thf =]
86 X HF 45 LNE 10A28 = 0.06 - rhf B
87 AHASELNE 10A28 - 0.10 - hR T
88| X HF R ENE 10818 - 0.07 - th x
89| 2 HRTELNE 10818 - 0.06 - th x
0 FLEFRAR 10A5H = 0.08 - thf I
9N FLEAELE 10A5H - 0.06 - R *
92| ERIANE 10A28 = 0.10 - h g B
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B2 &= R MEE et mESE | MEOKE

93 ETILiE 10828 - 0.07 - R avy—k
% BEEHLE 10A5H - 0.06 = Rk =
95 T FERAE 10A5H - 0.11 - thf =]
9| FrF182E 10858 = 0.09 - thf +
97T RERBRFSELE 10A58 - 0.05 - thf +
98| REELE 10A5H = 0.06 - rhf 3
9| R1EAE 10818 - 0.05 - R =
100 R3S E 10A1H - 0.03 - th g +
101 R552AE 10A1H N 0.08 - R +
102| R6EAE 10A1H = 0.07 = Rk +
103 RS 2E 10818 - 0.07 - eF 3 "
104| R8S A E 10A1H = 0.06 - h g =
105/ ROS A E 10A1H - 0.05 - thf =1

I 106/ R 105 A E 10A1H = 0.07 = ik I A%

107 R ELE 10A1H - 0.08 - eF 3 ILA g%

R 108 /NEAE 10818 - 0.06 - R "

Gl 109 BRFRERAR 10A2H - 0.07 - EEfMHE ILAEHE

B 110 =5 ILAMAE 10A2H - 0.10 - WEERGHRR x

£ EREEMEN 10828 - 0.07 - b +

i 12| @t A 10A2H = 0.06 = Rk T-®

= 13| FErE L E 10A28 - 0.11 - th g =

= 14| ZHAE 10A5H = 0.10 - R =1
15| FILAEE AR 10858 - 0.07 - thf +
16| REBERLE 10A5H = 0.06 - R I
17 BEFILFIRAE 10828 - 0.06 - b +
118 REHRFISLE 10A5H = 0.04 - th g =
MY REFZFISLE 10A2H - 0.09 - thf +
120 REFZF2E5 0 10A5H = 0.07 - thf 3&
121 FLUEILLAE 10A5H - 0.11 - b +
122| 2 TAE 10A5H = 0.09 = hh "
123/ FILEERLE 10A5H - 0.06 - th g =
124 FrFRAOAE 10A58 = 0.07 - h g =
125| BE R N E 10A5H - 0.10 - th &
126| AR ANE 10858 = 0.08 - | BEEIBMRIG R +
127 |l R LR35 10A58 - 0.08 - thf Sl
128 RirEHAANE 10A9H = 0.10 - th g 3
129/t EFRAE 10A9H - 0.07 - thf =1
130/t & 55 A E 10A9R = 0.09 - g =]
131/t 56 52 E 10898 - 0.07 - b =
132|i#db & 75 2 E 10A9H = 0.09 - rhf B
133 BFELE 10A9H - 0.08 - eF 3 "
134 ER FELDHVE 10898 = 0.07 - 1% BLR FAI7ILE
135 R SHhY A E 10A9H - 0.09 - R x
136 | Rl SRIAE 10A9H = 0.08 = hR -5
137/ HEYETELDBEVIE 10898 - 0.09 - PR +
138 HFIR A E 10898 - 0.10 - #EwEIADO T REh%
139t & EIDE 10A98 - 0.08 - thf B
140 it 45 A E 1089H - 0.10 -| hRiEEAHE =
141t B2 8 2 E 10898 - 0.06 - b +
142| L &35 E 10A9H = 0.08 - rhf B
143t B15 L E 10898 - 0.08 - R =1
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55 R % E b BESF | BEORE
Tm 50cm 5cm
144t &85~ E 10A 98 = 0.09 = hR =
145|fls — REAE 10A98 - 0.11 - g =
146| i F T2 B 10898 - 0.10 - thf =1
147 PR BZNE 10A9H8 - 0.09 - hf B
148 Al 7 &5 R 10A9H = 0.08 - rhf 3
149 FAR NP S5 E 10898 - 0.08 - PR 7
150 [R B SLH 10A9H = 0.11 - thf =]
151 EFHAHAAAR 10A9H - 0.09 - R B+
152 | FIRZEEE A F 10A9H - 0.08 - REEGHR +
153 EDAE 1048108 - 0.09 - g "
154 FHIRABF AR 10R 108 = 0.08 = 2P 3 T
n 155 | T A& 15 2 B G A & I ek i) 108108 - 0.07 - R =
156 DE VD LE 10A10H - 0.09 = thg B
. BREELEE 108 10H - 0.07 - th =
El 158 $TKIRENE 108108 - 0.09 = ik =
PN 159 #AE AR 10898 - 0.08 - CE 2R
UM 160 HiAC S LAE 10898 - 0.09 - ha =
B3 161 FARPY DARLE 10A9R - 0.07 - s B
T e 10898 z 0.09 I mak =
163 REEZLE 10A9H - 0.07 - thf =]
164 FI AR T AE 10R 108 = 0.09 - h g =
165| $T KR & 10H9H - 0.05 - R FAI7ILE
166| L[ FE A B 108 10H - 0.09 - rh =1
167 |L/RHEE AN E 108108 - 0.07 - thf +
168 ;EHD A E 108108 = 0.10 - th g 3t
169|B/HFAE 10R 108 - 0.08 - th g B
170 fiER A B 108 10H = 0.11 - thg =1
171 KE2E 108 10H - 0.08 - PR x
172 AR AR 108108 = 0.07 - thf =
173 k1 5 AR 108108 - 0.05 - hR *
174| kBRI A E 10R 108 = 0.08 - h g B
175/ #1 SE 108 10H - 0.08 - thf =1
176 B E 108 10H - 0.08 - rh B
1771 R TELAE 10A 108 - 0.06 - b b=
NIl 78| = LR ANE 108108 - 0.09 - s =1
179 ETHAE 108158 - 0.09 - hk =
BRENESSIEENE! 10R 108 = 0.09 - EEEfhHE +
?;_EE 181 EHE25 2 E 108108 - 0.07 -|RSHR(TOR) =
T 62 EMEISLE 108 10H = 0.09 - thf =1
=3 183 FHIG451NE 10A108 - 0.08 - P B
—  BRELEZ RN 108108 = 0.07 - thaR (B A ) =
185| f{ELH AR 10R 108 - 0.05 - R +
186 | f i Bl N E 108108 - 0.09 - thf +
187 MEEE T FELDHELS 10A 108 - 0.07 - EEfMhE +
188| {25 N E 108108 = 0.08 = Rk +
189|#R2 5N E 108108 - 0.06 - thf =1
190| FEEE A E 108 10H = 0.09 - R B
191 FEKRELE 10A 108 - 0.06 - PR x
192 fEEET T AR 108 10H = 0.08 - thf =3
193| RIS LE 108108 - 0.08 - th g B
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s
X5y

= R % E b BB | MEORE
Tm 50cm 5cm
1 EARWRERLS (AEYDLE) 108308 0.07 0.08 0.07 thi -2
2| AAREEL G (RAR—YL15) 108308 0.05 0.06 0.06 b *
I EBTHAEEHIKEG 108308 0.06 0.05 0.06 | ABEAYRA—RfHiE +
4| LA EFBkin 108308 0.06 0.07 0.07 g Ay
5| T AREF D EFH Bk 108308 0.04 0.04 0.05 | EHURAR—Z{H5E +
6 AnHULFrrTi5 10A308 0.09 0.08 0.09 Hhg -2
7 IR L SR Bk 5 10A30H 0.06 0.06 0.06 | AV RR—R{Fif +
8|tk T % BHEENLG (K15) 10A30H 0.07 0.07 0.06 R B2z
90| FiE T 2 BRIEENLIS (53815 KR 104308 0.06 0.07 0.07 B B2
10| T RAXH £E (3K EAD) 108308 0.06 0.05 0.07 L BEAT AA—AyELY)
1 RIAEEE (BrEkiz) 10A30H 0.06 0.07 0.06 | EHURR—R{Fif +
12 TRAFE(T=Ra—H) 108308 0.06 0.05 0.06 AOftiE BAANIZ
13| FAR NS> 2 B (BFEki5) 10830H 0.05 0.04 0.04 thf =
14| FIRNNP S S 2 E (Hyh—1i5) 108308 0.06 0.06 0.07 g Ay
15| FIHRIID 3548 (+7A—F BEEEI—R) 108308 0.08 0.08 0.09 g B2
16|t & P R E (FFEkis) 10A 308 0.05 0.06 0.07 | EHURR—R{H3E *
17t EhRAB(T=Ra—F) 10A30H 0.04 0.04 0.04 th x
18 FEBAR(T=Xa—h) 10A30H 0.09 0.10 0.10 AQftiE +
19| DKLE % B #0:EEN K5 (ZEDRE) 10H30H 0.10 0.11 0.12 hR B2
20| 4 LE % B BB (RR—Ya—h) 104308 0.13 0.11 0.10 R ZAR—ya—+k
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